- A= A
2 Selx ~oE

=5 4Y/HIE o[0ix|

© HEINRICH KIPP WERK GmbH & Co. KG

= i Tl =
MY U LTS
=9
THE:
AR EE AEQIE[A ARL

M mT my <2
Moupurorg
[> W oH n 3
AT | oy 40

HH.
K0074.0075, KO074.0150

HAHS Hezd g2 =g 2

K0074.0075N, KO074.0150N

HH2 AHIQIEA A—- 1 A2

o
OH

AMIAMZ]:
K0098
K0100
K0101
K0102
K0103
K0106
K0107

oot

=1
=

0
il

www.kipp.com - info@kipp.com

1/3



( ]
SaHiz A =y ATniHE XS] HeHn] A=
2 Selx ~Ee ol IS ST A TS
=M
. s ,JLR
r._% . l / ‘./ - B2 1
: £—:1L_1 B ) / M
i/
fra@ ! i (/f E
i arl
! O\ /17 Y
ﬂ
5 . il S L
m ) ;
O
Ll @
L1 Al Bi
—
o 00
oM |
_
PR— [ - T 'ﬂ-
Se=—"— 3
) |
N
D
A2 A
L
U
o © [
«|  K0074.0075
K0074.0450
o o1
N
D
A2_| | A_
E= 0
AT U THY SUY ANS B3 WY A 2z
EYTES =R A Eggo T aEo 2§ E9E EgE Z@TE SIS S
zZe Nz FH  F1 F F3 F4 EZoAE a7
N N N N N
K0074.0075 AE] 90° 75° 80 500 1100 250 700 K0100.16
K0074.0150 AE] 90° 80° 140 1200 2600 400 1000 K0100.20
K0074.0250 AE] 95° 80° 200 1500 3500 800 1950 K0100.28
K0074.0350 AE] 90° 75° 250 2500 5500 1150 3100 K0100.30
K0074.0450 AE] 90° 75° 250 3000 6500 1150 3100 K0100.34
K0074.0075N AE|2IYA AE] 90° 75° 80 500 1100 250 700 K0100.16
K0074.0150N AH|QIBA AE! 90° 80° 140 1200 2600 400 1000 K0100.20

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 2/3



°
3l =2 eHiz A o1 2> XS] HeHn] A=
Z5 09
FEHS B A AMA2 B B1B2 B3 B4C C1 D H L L1 M FEHS.
A= =izl
K0074.0075 AE 135 25 5,7 17,4 27 16 58 - 19 95 52 38 116 37 M5x35 K0098.02
K0074.0150 AE 26 38 6 28 40 20 62 22 24 14 55 53 170 60 M6x50 K0098.04
K0074.0250 AE 26 42 8 31 47 23 85 26 35 17,5 66 68 224 79 M8x60 K0098.04
K0074.0350 AE 412 59 9 43 59 30 12 39 45 24 87 91 274 108 M10x80 K0098.06
K0074.0450 AE 412 67 13 413 67 38 142 - 59 27 87 110 305 128 M12x100 K0098.06
K0074.0075N AE|QIBA AE 135 25 57 174 27 16 58 - 19 95 52 38 116 37 M5x35 -
K0074.0150N AE|QIYA AE 26 38 6 28 40 20 6,2 22 24 14 55 53 170 60 M6x50 -

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



